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. C++isa(n)  language. a. procedural b. functional c. declarative 4. object-onentcd

2. A program becomes a 4. job 4. process c. deadlock d. partition when it 1s selected -b_y the operating
system and b;é'light'ta the hold state. ' '
3. Whatis 1000001101 in hexadecimal ? a.20D 5.30C ¢.834 4.837
_  '. 4. A stcp-by-step saluuan to a problem is called . a. hardware 4. an apcraung systcm c.a computer
5. Whtch 0f the fellnwmg 15 a secmdary staragc dewce" a. RAM b cache c ﬂappy-d:sk d pnnter P
.""_:.momtor . _ . _ -
6 A gateway aperat,es at _ ___of ..th.e' OS_'I:_mi:del‘; a. first laycrb first twc 13?-517‘5’5#; ﬁrst thr&ela?crs d all
. 7. Web sne acldresscs are called __-a. HTML b. home pagcs c. URLs d. hypcrlmks e TCP[[P
8. _In extendcd ASCII each symbol isa.75.8.c.9 d.10bts.

' j"__Il Haw’ many sy 1 _ pattern with 10 bits? a. 128 0. 200 ¢ g
tepologj' uscsahub nrsmtch‘? a. bus b nnge stard all of the abovce nﬁne of the abave '
.a. P .'__;_é;;_;c TELNETd HTTPe SSL isa protocol for ﬁle transfcr ' '

Oy netxwrkd transport % | B
1. 15. ‘What is the result of x99°OR ( NOT x00) 201100110 . 11111111 ¢.1001 1001 d mlmmo (x denotes} reh
. hexademmal) . - :, | U B
] _;'-__5:16 a. Anaperatlng systemb Hardwarr: c Aqueued Anapphcanan pmgram e. An antls-—\rlmses program | T
supewxses and manages the actmty of each component m a computer system | AT
| 317 Mulupmgrazmmng reqmres a_ operatmg syste:m a. batch b. Umc-shanng c
- network ' L L ' e
BT 8. Thc only Ianguage undcrstood by computer hardware is a Ianguage a. C!C++ b symbelzc €.
" high-level d. patural e. machine IR
I isa basxc alganthm that arranges data accordmg to the:r values a. Inqmry b Sortmg c. Searcmng-

Ielddtsmbuted e

- d. Rccursmne Summanan | | o
‘?O A__is a co:mectmg dt‘:VICE that segmcnts traﬁic a. repeater b bndge c. mut-:r d gateway

"21 In a. mgn-and-magmtude b one’s complcmcm C. two $ complement d. aand b rmmber reprcsentamn, .
thcre are two representanons for 0. * | - .y

22 If thc mcmory address space is 16MB and the word sxzc 13 16 blts then a. 3 b 16 c 24 d 32 bus are. e
23.A__is a cennccung dewce that segments traﬂ'lc a. repeater b bndge C. router d gaxeway e NIC B
24, Accardmg to- the von Neumann model, what are stored in memgry? a. only daia b. only pmgram e
o damﬂﬂdpwgrama' nancofth:above PR T - | | -
f . :?3 In van Ncumann modcl thc a '
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calculations and logical operations.
26.In ___, only one program can reside in memory for execution. a. mono-programming 5.
mulnprogrannnmg c. partitioning d. paging e. none of the above |
27 A standard data type in the C/C++ language is not mcludmg a. mt b. char c. ﬂcat d array e both float
andarray - | - |
_ '228 a.FTP 5. SMTPc TELNET d. HTI'Plsapmtocol for mall semces - PR
o -;_‘)9 Ra_ndgm Access Memcry RA ) is. a klnd Of starage a pcrmancnt b smart c tcmpera.ry d .
cxpansmne cachememary ' | UL ol Jei D
::30. — search 15 usually applxed to an ordered lxst a Sequenual b Bmary c Bubble a' I,nsertmn e
Selectwn A | | T,
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. I Convezt thc fallomng ﬁve base ten (decim,al) represcntatmns 1o their :quwalent rwa S camplemcnt
forms usmg pattems of 8 blts (10%) ' - -

a_-';2_.5' --;"_bf- -:'-.70-. el dg-:fO el

2. What's the different between TCP and UDP? (10%)

Identrfv the bmdy of the fnl]nmng laop stmcture and ceunt the number 0f tlme.s it wxll be executcd (5%) o .
What happens 1f the test 1S changed to whlle (Cmmt not 6)? (5%) T R |

Caun.t ik N
 while (Ceunt not 7} do { _
Prmt thc value ass:gncd 10 Countcr;
Cmmt Count + 3;

4. What are the five basic components that make up a computer? (10%)




